  4, 56,  18B, 34, 10, 20, 26, 38 I need help with. Thanks
 4.  
[image: image1.wmf]0

2

³

x

, we have
       
[image: image2.wmf]0

49

49

36

2

>

³

+

x

 

       
[image: image3.wmf]0

49

36

2

=

+

x

 has no solutions.

  YES IT DOES WHEN YOU CONSIDER IMAGINARY NUMBERS AND WE ARE DOING THAT IN THIS SECTION!                                                                     
      B.  As 
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WELL, WHAT ARE THE UNITS THEN? (
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 is x=1/7. So, x-intercept is 1/7.  PLEASE PROVIDE THIS AS A POINT
22.         
[image: image16.wmf]12

4

)

6

)(

2

(

)

5

(

)

2

(

11

2

-

-

=

-

+

=

-

+

-

x

x

x

x

x

x

, we have

                     
[image: image17.wmf]0

15

16

2

=

+

-

x

x


                      (x-1)(x-15)=0

                      x=15  or  x=1.
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which is impossible. no solution exists.

YES IT DOES WHEN YOU CONSIDER IMAGINARY NUMBERS AND WE ARE DOING THAT IN THIS SECTION!                                                                                                                  
10.      (14-2x)(20-2x)=160

            (7-x)(10-x)=40
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             (x-15)(x-2)=0   …………………(1)

               0<x<7. Hence, we get from (1)

                           x=2

So, the width of the frame is 2 inches.

          You did not define your variable                     

20.   The hypotenuse of a right triangle is 22m long. The length of one leg is 0m less than the other. Find the lengths of the legs.

Assume that one leg is x, then the other is x+10. So, we have
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  So, the lengths of the legs are  
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 you need to provide units
Give your answer as sentence with units.  The quadratic formula considers the + and – case of the radical and not the first number (5).
26.  A turbo-jet flies 50 mph faster than a super-prop plane. If a turbo-jet goes 2000 mi in 3 hr less time than it takes the super-prop to go 2800 mi, find the speed of each plane
A turbo-jet has  speed x; a super-prop plane has speed x-50. Then we have

                               
[image: image33.wmf]3

50

2800

2000

-

=

-

x

x


                       
[image: image34.wmf])

50

(

3

2800

)

50

(

2000

-

-

=

-

x

x

x

x

   

                      
[image: image35.wmf]0

100000

950

3

2

=

-

-

x

x


                    
[image: image36.wmf]=

=

+

+

2

*

3

100000

*

3

*

4

950

950

2

x

400
So, A turbo-jet has speed 400mph, and a super-prop plane has speed 350mph

You did not define your variable x    
 34.    Cross multiplying, 
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-1 unrecoverable point for not defining variables and for neglecting units
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